

On extended beta type integral operators involving generalized Mittag-Leffler function

Waseem A. Khan¹, M. Ghayasuddin² and Moin Ahmad³

Communicated by Jose Luis Lopez-Bonilla

MSC 2010 Classifications: 33C45, 47G20, 26A33.

Keywords and phrases: Euler type integrals, extended beta function, Mittag-Leffler function.

Abstract The aim of the present research paper is to establish a new class of extended beta type integral operators involving generalized Mittag-Leffler function, defined by Salim and Faraz [25]. Further, we derive some potentially useful special cases of our main results.

1 Introduction

Recently, a number of authors namely, Choi *et al.* [6, 7, 8], Ahmed and Khan [1], Ali [2], Ali *et al.* [3], Ghayasuddin *et al.*[9], Khan *et al.* [10-14] and Kamarujjama *et al.* [15, 16] have established some interesting integrals operators involving various kind of special functions, which are potentially useful in many diverse field of physics and engineering sciences. In a sequel of such type of works, in this paper, we further establish a new class of beta type integral operators involving generalized Mittag-Leffler function. A number of known and (presumably) new results are also indicated as special cases of our main finding. For purpose our present study, we begin by recalling here the following definitions of some well known functions:

The Swedish mathematician Mittag-Leffler [20] introduced the function $E_\alpha(z)$ as follows:

$$E_\alpha(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)}, \quad (1.1)$$

where $z \in \mathbb{C}$ and $\Gamma(s)$ is the Gamma function.

The Mittag-Leffler function naturally occurs as the solution of fractional order differential equation or fractional order integral equations.

A generalization of $E_\alpha(z)$ was studied by Wiman [29], where he defined the function $E_{\alpha,\beta}(z)$ as

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, \quad (1.2)$$

where $\alpha, \beta \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0$, which is also known as Mittag-Leffler function or Wiman's function.

Afterward, Prabhakar [22] introduced the function $E_{\alpha,\beta}^\gamma(z)$ in the form (see also Killbas *et al.* [17]):

$$E_{\alpha,\beta}^\gamma(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}, \quad (1.3)$$

where $\alpha, \beta, \gamma \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0$.

In 2007, Shukla and Prajapati [27] (see also Srivastava and Tomovaski [28]) further introduced and investigated the function $E_{\alpha,\beta}^{\gamma,q}(z)$ as follows:

$$E_{\alpha,\beta}^{\gamma,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}, \tag{1.4}$$

where $\alpha, \beta, \gamma \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, q \in (0, 1) \cup \mathbb{N}$ and $(\gamma)_{qn} = \frac{\Gamma(\gamma+qn)}{\Gamma(\gamma)}$.

Furthermore, Salim [26] gave a new extension of Mittag-Leffler function as follows:

$$E_{\alpha,\beta}^{\gamma,\delta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)} \frac{z^n}{(\delta)_n}, \tag{1.5}$$

where $\alpha, \beta, \gamma, \delta \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0$.

Very recently, Salim and Faraj [25] introduced the following generalized Mittag-Leffler function $E_{\alpha,\beta,p}^{\gamma,\delta,q}(z)$:

$$E_{\alpha,\beta,p}^{\gamma,\delta,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{(\delta)_{pn}}, \tag{1.6}$$

where $\alpha, \beta, \gamma, \delta \in \mathbb{C}, \min\{\Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0\} > 0; p, q > 0$ and $q < \Re(\alpha) + p$.

The special function (1.6) is a generalization of another type of Mittag-Leffler functions introduced in (1.1)-(1.5).

Now we recall the classical beta function denoted by $B(a, b)$ and is defined by (see [21], see also [18]):

$$B(a, b) = \int_0^1 t^{a-1}(1-t)^{b-1} dt = \frac{\Gamma(a)\Gamma(b)}{\Gamma(a+b)}, (\Re(a) > 0, \Re(b) > 0). \tag{1.7}$$

In 1997, Chaudhary *et al.* [4] presented the following extension of Euler’s Beta function:

$$B(a, b; \sigma) = \int_0^1 t^{a-1}(1-t)^{b-1} \exp\left[-\frac{\sigma}{t(1-t)}\right] dt \tag{1.8}$$

For $\sigma = 0$, the extended beta function reduces to the classical beta function.

The Gauss hypergeometric function, denoted by $F(a, b, c; z)$ and confluent hypergeometric function of the first kind denoted by $\Phi(b; c; z)$, for $\Re(c) > \Re(b) > 0$, are defined as follows (see [24], see also [23]):

$$F(a, b; c; z) = \frac{1}{B(b, c-b)} \int_0^1 t^{b-1}(1-t)^{c-b-1}(1-tz)^{-a} dt, \tag{1.9}$$

$$|\arg(1-z)| < \pi$$

and

$$\Phi(b; c; z) = \frac{1}{B(b, c-b)} \int_0^1 t^{b-1}(1-t)^{c-b-1} \exp(zt) dt. \tag{1.10}$$

By using the series expansion of $(1-zt)^{-a}$ and $\exp(zt)$ in (1.9) and (1.10) respectively, we obtain

$$F(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n B(b+n, c-b)}{B(b, c-b)} \frac{z^n}{n!} \tag{1.11}$$

$$(|z| < 1, \Re(c) > \Re(b) > 0);$$

$$\Phi(b; c; z) = \sum_{n=0}^{\infty} \frac{B(b+n, c-b)}{B(b, c-b)} \frac{z^n}{n!}, \quad (1.12)$$

($\Re(c) > \Re(b) > 0$).

In 2004, Chaudhary *et al.* [5] (see also [19]) used beta function $B(a, b; \sigma)$ to extended the hypergeometric and confluent hypergeometric function as follows:

$$F(a, b; c; z; \sigma) = \sum_{n=0}^{\infty} \frac{(a)_n B(b+n, c-b; \sigma)}{B(b, c-b)} \frac{z^n}{n!}, \quad (1.13)$$

$$(\sigma \geq 0; |z| < 1, \Re(c) > \Re(b) > 0);$$

$$\Phi(b; c; z; \sigma) = \sum_{n=0}^{\infty} \frac{B(b+n, c-b; \sigma)}{B(b, c-b)} \frac{z^n}{n!}, \quad (1.14)$$

$$(\sigma \geq 0; \Re(c) > \Re(b) > 0);$$

and gave their Euler's type integral representation:

$$F(a, b; c; z; \sigma) = \frac{1}{B(b, c-b)} \int_0^1 t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} \exp\left[-\frac{\sigma}{t(1-t)}\right] dt, \quad (1.15)$$

$$(\sigma > 0; \sigma = 0; |\arg(1-z)| < \pi; \Re(c) > \Re(b) > 0);$$

$$\Phi(b; c; z; \sigma) = \frac{1}{B(b, c-b)} \int_0^1 t^{b-1} (1-t)^{c-b-1} \exp\left[zt - \frac{\sigma}{t(1-t)}\right] dt, \quad (1.16)$$

$$(\sigma > 0; \sigma = 0; \Re(c) > \Re(b) > 0).$$

2 Extended beta type integral operator involving Mittag-Leffler function

Theorem 2.1. If $\alpha, \beta, \gamma, \delta \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0, \Re(A) > 0, p, q \geq 0$ and $q < \Re(\alpha) + p$, then

$$\int_0^1 t^{a-1} (1-t)^{b-1} \exp\left(\frac{-A}{t(1-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(zt^\alpha) dt = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} B(\alpha n + a, b; A). \quad (2.1)$$

Proof. In order to derive (2.1), we denote L.H.S. of (2.1) by I_1 and then expanding $E_{\alpha, \beta, p}^{\gamma, \delta, q}(zt^\alpha)$ by using (1.6), to get

$$I_1 = \int_0^1 t^{a-1} (1-t)^{b-1} \exp\left(\frac{-A}{t(1-t)}\right) \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} dt.$$

Now changing the order of summation and integration (which is guaranteed under the given conditions), to get

$$I_1 = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} \int_0^1 t^{\alpha n + a - 1} (1-t)^{b-1} \exp\left(\frac{-A}{t(1-t)}\right) dt.$$

Now by using (1.8) in the above equation, we get the required result.

Corollary 2.1. For $A = 0$ in Theorem 2.1, we immediately deduce the following result:

$$\frac{1}{\Gamma b} \int_0^1 t^{a-1} (1-t)^{b-1} E_{\alpha, \beta, p}^{\gamma, \delta, q}(zt^\alpha) dt = E_{\alpha, a+b, p}^{\gamma, \delta, q}(z). \tag{2.2}$$

Theorem 2.2. If $\alpha, \beta, \gamma, \delta, \rho, \mu, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0, \Re(\rho), \Re(\mu), \Re(\lambda) > 0, \Re(A) > 0, p, q \geq 0$ and $q < \Re(\alpha) + p; | \arg(\frac{b'c+d}{a'c+d}) | < \pi$, then

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1} (b-t)^{\mu-1} (ct+d)^\lambda \exp\left(\frac{-A}{(t-a)(b-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(z(b-t)^f) dt \\ &= (ac+d)^\lambda \sum_{m=0}^\infty \sum_{n=0}^\infty \frac{(-A)^m}{m!} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} B(\rho-m, \mu+fn-m)(b-a)^{\rho+\mu+fn-2m-1} \\ & \quad \times {}_2F_1\left[\rho-m, -\lambda; \rho+\mu+fn-2m; \frac{-(b-a)c}{ca+d}\right]. \end{aligned} \tag{2.3}$$

Proof. On the L.H.S. of (2.3), expanding the exponential function and Mittag-Leffler function in their respective series, to get

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1} (b-t)^{\mu-1} (ct+d)^\lambda \exp\left(\frac{-A}{(t-a)(b-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(z(b-t)^f) dt \\ &= \int_a^b (t-a)^{\rho-1} (b-t)^{\mu-1} (ct+d)^\lambda \sum_{m=0}^\infty \frac{(-A)^m}{(t-a)^m (b-t)^m m!} \sum_{n=0}^\infty \frac{(\gamma)_{qn} z^n (b-t)^{fn}}{\Gamma(\alpha n + \beta)(\delta)_{pn}} dt. \end{aligned}$$

Now changing the order of summation and integration (which is guaranteed under the given conditions), we get

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1} (b-t)^{\mu-1} (ct+d)^\lambda \exp\left(\frac{-A}{(t-a)(b-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(z(b-t)^f) dt \\ &= \sum_{m=0}^\infty \sum_{n=0}^\infty \frac{(-A)^m}{m!} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} \int_a^b (t-a)^{\rho-m-1} (b-t)^{\mu+fn-m-1} (ct+d)^\lambda dt, \end{aligned}$$

which further on using the integral [1], yields the required result (2.3).

Corollary 2.2. For $A = 0$ in Theorem 2.2, we get

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1} (b-t)^{\mu-1} (ct+d)^\lambda E_{\alpha, \beta, p}^{\gamma, \delta, q}(z(b-t)^f) dt \\ &= (ac+d)^\lambda \sum_{n=0}^\infty \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} B(\rho, \mu+fn)(b-a)^{\rho+\mu+fn-1} \\ & \quad \times {}_2F_1\left[\rho, -\lambda; \rho+\mu+fn; \frac{-(b-a)c}{ca+d}\right]. \end{aligned} \tag{2.4}$$

Corollary 2.3. On setting $a = 0, b = 1$ in Theorem 2.2, we get the following result:

$$\int_0^1 t^{\rho-1} (1-t)^{\mu-1} (ct+d)^\lambda \exp\left(\frac{-A}{t(1-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(z(1-t)^f) dt$$

$$\begin{aligned}
&= d^\lambda \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m}{m!} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} B(\rho - m, \mu + fn - m) \\
&\quad \times {}_2F_1 \left[\rho - m, -\lambda; \rho + \mu + fn - 2m; \frac{-c}{d} \right]. \tag{2.5}
\end{aligned}$$

Theorem 2.3. If $\alpha, \beta, \gamma, \delta, \rho, \mu, \lambda \in \mathbb{C}$, $\Re(\alpha) > 0$, $\Re(\beta) > 0$, $\Re(\gamma) > 0$, $\Re(\delta) > 0$, $\Re(\rho) > 0$, $\Re(\mu) > 0$, $\Re(\lambda) > 0$, $\Re(A) > 0$, $p, q \geq 0$ and $q < \Re(\alpha) + p$, then

$$\begin{aligned}
&\int_0^1 t^{\lambda-1} (1-t)^{\mu-\lambda-1} (1-ut^\rho(1-t)^\sigma)^{-a} \exp\left(\frac{-A}{t(1-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(zt^\alpha) dt \\
&= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} (a)_m B(\lambda + \alpha n + \rho m, \mu - \lambda + \sigma m; A) \frac{u^m}{m!}. \tag{2.6}
\end{aligned}$$

Proof. On taking L.H.S. of Theorem 2.3, using the definition of generalized Mittag-Leffler function (1.6), and then by changing the order of summation and integration, we get

$$\begin{aligned}
&\int_0^1 t^{\lambda-1} (1-t)^{\mu-\lambda-1} (1-ut^\rho(1-t)^\sigma)^{-a} \exp\left(\frac{-A}{t(1-t)}\right) E_{\alpha, \beta, p}^{\gamma, \delta, q}(zt^\alpha) dt \\
&= \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} \int_0^1 t^{\lambda+\alpha n-1} (1-t)^{\mu-\lambda-1} (1-ut^\rho(1-t)^\sigma)^{-a} \exp\left(\frac{-A}{t(1-t)}\right) dt,
\end{aligned}$$

which further on using the integral [18], gives the required result (2.6).

Corollary 2.4. On setting $A = 0$ in Theorem 2.3, we get the following result:

$$\begin{aligned}
&\int_0^1 t^{\lambda-1} (1-t)^{\mu-\lambda-1} (1-ut^\rho(1-t)^\sigma)^{-a} E_{\alpha, \beta, p}^{\gamma, \delta, q}(zt^\alpha) dt \\
&= \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} (a)_m B(\lambda + \alpha n + \rho m, \mu - \lambda + \sigma m) \frac{u^m}{m!}. \tag{2.7}
\end{aligned}$$

Remark. If we consider $p = q = 1$ in (2.1), (2.3) and (2.6), then we get a new class of Beta type integral operators involving the generalized Mittag-Leffler function defined by Salim [26], and the case $\delta = p = 1$ of (2.1), (2.3) and (2.6) is seen to yield the known results of Ahmed and Khan [1].

3 Special Cases

In this section, we establish the following potentially useful integral operators involving generalized Wright hypergeometric functions as special cases of our main results:

1. Setting $\gamma = q = 1$ in Theorem 2.1, we get

$$\begin{aligned}
&\int_0^1 t^{a-1} (1-t)^{b-1} \exp\left(\frac{-A}{t(1-t)}\right) {}_2\Psi_2 \left[\begin{matrix} (1, 1), (1, 1); \\ (\beta, \alpha), (\delta, p); \end{matrix} \middle| zt^\alpha \right] dt \\
&= \frac{1}{\Gamma(\delta)} \sum_{n=0}^{\infty} \frac{n! z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} B(n\alpha + a, b; A),
\end{aligned}$$

Here ${}_p\Psi_q$ is the Wright hypergeometric function defined as follows (see [9]).

2. Setting $\alpha = \beta = \gamma = q = 1$ in Theorem 2.1, we get

$$\int_0^1 t^{a-1}(1-t)^{b-1} \exp\left(\frac{-A}{t(1-t)}\right) {}_1\Psi_1 \left[\begin{matrix} (1, 1); \\ (\delta, p); \end{matrix} \quad zt \right] dt = \frac{1}{\Gamma(\delta)} \sum_{n=0}^{\infty} \frac{z^n}{(\delta)_{pn}} B(n+a, b; A).$$

3. Setting $\delta = p = 1$ in Theorem 2.1, we get

$$\begin{aligned} & \int_0^1 t^{a-1}(1-t)^{b-1} \exp\left(\frac{-A}{t(1-t)}\right) {}_1\Psi_1 \left[\begin{matrix} (\gamma, q); \\ (\beta, \alpha); \end{matrix} \quad zt^\alpha \right] dt \\ &= \Gamma(\gamma) \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta) n!} B(n\alpha + a, b; A). \end{aligned}$$

4. Setting $\gamma = q = 1$ in Theorem 2.2, we get

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1}(b-t)^{\mu-1}(ct+d)^\lambda \exp\left(\frac{-A}{(t-a)(b-t)}\right) {}_2\Psi_2 \left[\begin{matrix} (1, 1), (1, 1); \\ (\beta, \alpha), (\delta, p); \end{matrix} \quad z(b-t)^f \right] dt \\ &= \frac{1}{\Gamma(\delta)} (ac+d)^\lambda \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m}{m!} \frac{n! z^n}{\Gamma(\alpha n + \beta) (\delta)_{pn}} B(\rho-m, \mu+fn-m)(b-a)^{\rho+\mu+fn-2m-1} \\ & \quad \times {}_2F_1 \left[\rho, -\lambda, \rho + \mu + fn; \frac{(b-a)c}{ca+d} \right]. \end{aligned}$$

5. Setting $\alpha = \beta = \gamma = q = 1$ in Theorem 2.2, we get

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1}(b-t)^{\mu-1}(ct+d)^\lambda \exp\left(\frac{-A}{(t-a)(b-t)}\right) {}_1\Psi_1 \left[\begin{matrix} (1, 1); \\ (\delta, p); \end{matrix} \quad z(b-t)^f \right] dt \\ &= \frac{1}{\Gamma(\delta)} (ac+d)^\lambda \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m}{m!} \frac{z^n}{(\delta)_{pn}} B(\rho-m, \mu+fn-m)(b-a)^{\rho+\mu+fn-2m-1} \\ & \quad \times {}_2F_1 \left[\rho-m, -\lambda; \rho + \mu + fn - 2m; \frac{(b-a)c}{ca+d} \right]. \end{aligned}$$

6. Setting $\delta = p = 1$ in Theorem 2.2, we get

$$\begin{aligned} & \int_a^b (t-a)^{\rho-1}(b-t)^{\mu-1}(ct+d)^\lambda \exp\left(\frac{-A}{(t-a)(b-t)}\right) {}_1\Psi_1 \left[\begin{matrix} (\gamma, q); \\ (\beta, \alpha); \end{matrix} \quad z(b-t)^f \right] dt \\ &= \Gamma(\gamma) (ac+d)^\lambda \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m}{m!} \frac{z^n}{\Gamma(\alpha n + \beta)} B(\rho-m, \mu+fn-m)(b-a)^{\rho+\mu+fn-2m-1} \\ & \quad \times {}_2F_1 \left[\rho, -\lambda, \rho + \mu + fn; \frac{(b-a)c}{ca+d} \right]. \end{aligned}$$

7. Setting $\gamma = q = 1$ in Theorem 2.3, we get

$$\int_0^1 t^{\lambda-1}(1-t)^{\mu-\lambda-1} \{1-ut^\rho(1-t)^\sigma\}^{-a} \exp\left(\frac{-A}{t(1-t)}\right) {}_2\Psi_2 \left[\begin{matrix} (1, 1), (1, 1); \\ (\beta, \alpha), (\delta, p); \end{matrix} \quad zt^\alpha \right] dt$$

$$= \frac{1}{\Gamma(\delta)} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{n! z^n}{\Gamma(\alpha n + \beta)(\delta)_{pn}} (a)_m B(\lambda + \alpha n + \rho m, \mu - \lambda + \sigma m; A) \frac{u^m}{m!}.$$

8. Setting $\alpha = \beta = \gamma = q = 1$ in Theorem 2.3, we get

$$\int_0^1 t^{\lambda-1} (1-t)^{\mu-\lambda-1} \{1 - ut^\rho(1-t)^\sigma\}^{-a} \exp\left(\frac{-A}{t(1-t)}\right) {}_1\Psi_1 \left[\begin{matrix} (1, 1); \\ (\delta, p); \end{matrix} \quad zt \right] dt$$

$$= \frac{1}{\Gamma(\delta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{z^n}{(\delta)_{pn}} (a)_m B(\lambda + n + \rho m, \mu - \lambda + \sigma m; A) \frac{u^m}{m!}.$$

9. Setting $\delta = p = 1$ in Theorem 2.3, we get

$$\int_0^1 t^{\lambda-1} (1-t)^{\mu-\lambda-1} \{1 - ut^\rho(1-t)^\sigma\}^{-a} \exp\left(\frac{-A}{t(1-t)}\right) {}_1\Psi_1 \left[\begin{matrix} (\gamma, q); \\ (\beta, \alpha); \end{matrix} \quad zt^\alpha \right] dt$$

$$= \Gamma(\gamma) \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta) n!} (a)_m B(\lambda + \alpha n + \rho m, \mu - \lambda + \sigma m; A) \frac{u^m}{m!}.$$

4 Concluding remark

In this paper, we have established some beta type integral operators involving generalized Mittag-Leffler function. We have also considered some special cases of our main finding in the form of new beta type integrals involving Wright hypergeometric functions. Moreover, in this section, we briefly consider a variation of the results derived in section 2 by considering the relation between generalized Mittag-Leffler function and generalized Bessel-Maitland function. Since, it can be easily seen that the generalized Mittag-Leffler function $E_{\alpha, \beta, p}^{\gamma, \delta, q}(z)$ is a special case of the generalized Bessel-Maitland function as follows (see [9, p.294]):

$$E_{\alpha, \beta, p}^{\gamma, \delta, q}(z) = J_{\beta-1, \gamma, \delta}^{\alpha, q, p}(-z).$$

Therefore, the results presented in section 2 are easily converted in terms of the generalized Bessel-Maitland function after some suitable parametric replacement.

Acknowledgement. The author Waseem A. Khan thanks to Prince Mohammad bin Fahd University, Saudi Arabia for providing facilities and support.

References

- [1] Ahmed, S, Khan, M. A, Euler type integral involving generalization Mittag-Leffler function, Commun. Korean Math.Soc., 29(3)(2014), 479-487.
- [2] Ali, S, On some new unified integrals, Adv. Comput. Math. Appl., 13(1)(2012), 151-153.
- [3] Ali, M, Khan, W. A, Khan, I. A, Study on double integral operator involving generalized Bessel-Maitland function, Palestine Journal of Mathematics, 9(2)(2020), 991-998.
- [4] Chaudhry, M. A, Qadir, A, Rafiq, M and Zubair, S.M, Extension of Euler's beta function, J. Comput. Appl. Math., 78(1)(1997), 19-32.
- [5] Chaudhry, M. A, Qadir, A and Srivastava, H.M and Paris, R.B, Extended hypergeometric and confluent hypergeometric functions, Appl. Math. Comput., 159(5)(2004), 589-602.
- [6] Choi, J, Agarwal, P, Mathur, S and Purohit, S. D, Certain new integral formulas involving the generalized Bessel functions, Bull. Korean Math. Soc., 51(4)(2014), 995-1003.
- [7] Choi, J, Agarwal, P, Certain unified integrals involving a product of Bessel functions of first kind, Honam Mathematical J., 4(35)(2013), 667-677.
- [8] Choi, J, Agarwal, P, Certain unified integrals associated with Bessel functions, Boundary Value Prob., 2013:95 (2013).

- [9] Ghayasuddin, M, Khan, W. A, A new extension of Bessel Maitland function and its properties, *Matematiski Vesnik*, 70(4)(2018), 292-302.
- [10] Khan, W. A, Ahmad, M, Some Euler type generalized beta function involving extended Mittag-Leffler function, *Palestine Journal of Mathematics*, 9(2)(2020), 969-976.
- [11] Khan, W. A, Ghayasuddin, M, Srivastava, D, A new class of integral operators involving a product of generalized Bessel function and Jacobi polynomial, *Palestine Journal of Mathematics*, 9(1)(2020), 427-435.
- [12] Khan, W. A, Nisar, K S, Unified integral operator involving generalized Bessel-Maitland function, *Proceeding of the Jangeon Mathematical Society*, 21(3)(2018), 339-346.
- [13] Khan, W. A, Nisar, K S, Beta type integral formula associated with Wright generalized Bessel function, *Acta Math. Univ. Comenianae*, Vol. LXXXVII, 1(2018), 117-125.
- [14] Khan, W. A, Nisar K S and J. Choi, An integral formula of the Mellin transform type involving the extended Wright Bessel function, *Far East Journal of Mathematical Sciences*, 102(11)(2017), 2903-2912.
- [15] Kamarujjama, M, Khan, W. A, On infinite series of hypergeometric function of three variables, *Global Journal of Pure and Applied Mathematics*, 71(2011), 83-88.
- [16] Kamarujjama, M, Khan, W. A, On Laplace transform of generalized Whittaker function of Multivariable's, *Italian Journal of Pure and Applied Mathematics*, 32(2014), 67-72.
- [17] Kilbas, A. A, Saigo, M, Saxena, R. K, Generalized Mittag-leffler function and generalized fractional calculus operators, *Inte. Trans. Spec. Funct.*, 15(2004), 31-49.
- [18] Khan, S, Agrawal, B and Pathan, M. A and Mohammad, F, Evaluations of certain Euler type integral, *Appl. Math. Comput.*, 189(2)(2007), 1993-2003.
- [19] Luke, Y. L, *The Special functions and their approximations*, Vol.1, New York, Academic Press 1969.
- [20] Mittag-Leffler, G. M, Sur la nouvelle fonction $E_\alpha(x)$, *C. R. Acad. Sci Paris*, 137(1903), 554-558.
- [21] Parmar, R. K, A new Generalized of Gamma, Beta, Hypergeometric and Confluent Hypergeometric Functions, *Le, Mathematique*, Vol.LXVIII(2013), 33-52.
- [22] Prabhakar, T. R, A singular integral equation with a generalized Mittag-Leffler function in the kernel, *Yokohama Math. J.*, 19(1971), 7-15.
- [23] Prudnikov, A. P, Brychkov, Yu. A and Matichev, O. I, *Integrals and Series*, Vol.I, Gordon and Breach Science Publishers, New York, 1990.
- [24] Rainville, E. D, *Special functions*, The Macmillan Company, New York, 1960.
- [25] Salim, T. O and Faraj, W, A generalization of Mittag-Leffler function and integral operator associated with fractional calculus, *J. Frac. Calc. Appl.*, 3(5)(2012), 1-13.
- [26] Salim, T. O, Some properties relating to the generalized Mittag-Leffler function, *Adv. Appl. Math. Anal.*, 4(2009), 21-80.
- [27] Shukla, A. K, Prajapati, J. C, On a generalization of Mittag-Leffler function and its properties, *J. Math. Ann. Appl.*, 336(2007), 797-811.
- [28] Srivastava, H. M and Tomovski, Z, Functional calculus with an integral operator containing a generalized Mittag-Leffler function in the kernel, *Appl. Math. Comput.*, 211(2009), 198-210
- [29] Wiman, A, Uber den fundamentalsatz in der Theorie der Funktionen, *Acta Math.*, 29(1905), 191-201.

Author information

Waseem A. Khan¹, M. Ghayasuddin² and Moin Ahmad³, ¹Department of Mathematics and Natural Sciences, Prince Mohammad Bin Fahd University, P.O Box 1664, Al Khobar 31952, Saudi Arabia, ²Department of Mathematics, Integral University Campus, Shahjahanpur-242001, India, ³Department of Mathematics, Shree Krishna Institute, Ahmad Nagar Sitapur-261125, India.

E-mail: wkhani@pmu.edu.sa, ghayas.maths@gmail.com, moinah1986@gmail.com

Received: 2021-02-12

Accepted: 2021-07-29